POLY NOZZLE BALL VALVE REPLACEMENT PARTS - 1-1/2" FP, 2" SP & 2" FP
Size and Part Number

DESCRIPTION 1-1/2" FP 2" SP 2"FP
Upper Bearing - - 4B302-20
Price - - 1.47
Upper Bearing 1-1/2" Polytef 4H013-20 4H013-20

Price 0.74 0.74

Lower Bearing 4B301-20 4B301-20 4B302-20
Price 1.47 1.47 1.47
O-Ring 4H038-00 4H038-00 4H039-00
Price 1.63 1.63 247
Body Bolt 3/8"x4" 4H001-00 4H001-00

Price 0.68 0.68

Body Bolt 3/8"x5" - - 4H009-00
Price - - 1.94
Bolt 1/4"'x5/8" 4H008-00 4H008-00

Price 0.32 0.32

Washer 1/4"x1" Cad 4H016-10 4H016-10

Price 0.17 0.17

Lockwasher 3/8" Cad 4H017-00 4H017-00 4H017-00
Price 0.17 0.17 0.17
Nut 3/8"x21/64" Cad 4H024-00 4H024-00 4H024-00
Price 0.17 0.17 0.17
Nut 3/8"x7/32" Cad

Price

Handle Bolt 3/8"x1/2" Cad - - 4H029-10
Price - - 0.47
Handle Wash. 1-1/2" O.D. - - 4H011-10
Price - - 0.37
PIN 3/16"x1/2" 4H035-00 4H035-00

Price 0.42 0.42

REPAIR KIT 4289C-20 4289C-20 4289E-20
Price 24.10 24.10 26.93

Reference Catalog Page 28

GOODYEAR | tall Toll Free: 1-866-711-4673

RUBBER PRODUCTS INC WebSales@GoodyvearRubberProducts.com



